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O g xtelxt 200,008 * 87 1,600 0 1,600
o= 347,000 * 1} 347 0 347
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2 327,001 339,063 212,062

OJlzs(gee) 194,901 206,963 A 12,062

oJlzs 178,980 191,042 A 12,062

- BHA 178,980 191,042 A 12,062

- 55 2,800,000& » 1€ » 128 33,600 34,754 A1,154

6= 2,400,000&  2H = 123 57,600 60,291 A2,691

= 1,850,000& * 2H = 123 44,400 49,560 25,160
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405 THAHFH S 250 0 250
01 ML ESF=H 250 0 250
OS+8X 2E 0IEHUY
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SN ABIS
HE: #H2IAY(+31S)
el o2yl (el &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e bRz
£21S 686, 155 721,505 35,350
HHSALH(+21E) 438,655 469,255 30,600
ol 2y 379,636 410,236 30,600
o124l 352,356 382,956 30,600
101 @121t 352,356 382,956 30,600
01 2% 352,356 382,956 30,600
0J123(LR) 193,724 227,824 34,100
oJl=3 176,199 210,299 £34,100
SIEIRS 176,199 210,299 A34,100
.52 25,536,002 25,536 35,536 £10,000
62 50,828, 0002 50,828 60,828 210,000
.73 17,298,00024 17,298 25,198 AT7,900
- 83 39,646,002 39,646 45,846 6,200
o0%+g 65,456 61,956 3,500
OZMLg 31,452 27,952 3,500
—SagRay 13,220 9,720 3,500
DREOASE 50,0002 * 12 53 2,750 0 2,750
CDEXAH 150,008 * 1% « 52 750 0 750
Z0 4o B B (+B1S) 247,500 252,250 A4,750
EI= N EESE 247,500 252,250 A4,750
ol 42 X 179,550 179,300 250
405 THAHE St 8,950 8,700 250
01 RAUSEH S| 8,950 8,700 250
OS4+8X 228 0IEHYY
250,000 * 17} 250 0 250
FONRME 2 41,650 46,650 25,000
201 Yer2 Y| 36,850 41,850 25,000
01 AR eIt 36,850 41,850 25,000
OFURAMHIZIY 2Y ALY (LR) 33,900 38,900 A5,000
ORJina 3,090,000%! 3,090 3,490 A400
OAr2=0lnA 2,490,0002! 2,490 3,490 A1,000
Oge|HADA 2,490,000%! 2,490 3,490 A1,000
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ol b 558, 147 530,481 27,666
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o124t 525,747 500, 181 25,566
24 525,747 500, 181 25,566
0123 319, 137 298,731 20,406
o=z 296, 157 275,751 20,406
-8ty 296, 157 275,751 20,406
72 2,065,0008 * 4% * 122 99, 120 49,560 49,560
82 1,669,800%! * 2% * 128 40,076 100, 188 A60, 112
.93 1,289,900% * 4% + 128 61,916 30,958 30,958
o+g 86, 157 82,677 3,480
OF-EEN= 33,352 29,872 3,480
~H2A YIS 9,840 8,160 1,680
- 2011 01 At~254 0] 8
110,008 * 3% * 122 3,960 2,640 1,320
- 155101 &44~2011 0] 8
60,000 * 12§ * 63 360 0 360
-SagRLy 14,280 12,480 1,800
sS4
30,0002 * 5% + 122 1,800 0 1,800
ons2 x| 19,680 18,000 1,680
O EIPIEES 19,680 18,000 1,680
673 (&) 130,008 * 6% * 122 9,360 6,240 3,120
-82 013t 120,008 * 6% * 122 8,640 10,080 A1,440
32,400 30,300 2,100
204 X @42l 22,800 20,700 2,100
A 21,000 18,900 2,100
073 140,008 * 4% * 122 6,720 3,360 3,360
08-93(L2) 105,008 * 6% * 122 7,560 8,820 A1,260
T saH(+328) 235,357 235, 107 250
IEESE 235,357 235, 107 250
EINE 139,054 138,804 250
405 THAHE S 5,750 5,500 250
01 RMUSEHSH| 5,750 5,500 250
OS4+8X B2E 0ISHHIY
250,008 * 174 250 0 250
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M=ES 869,617 917,867 A48,250
HZH (HSMASEE) 566,533 615,033 A48,500
2l 493,748 542,248 A48,500
2d| 461,068 509,568 A48,500
101 Q1 Z4H| 461,068 509,568 A48,500
01 = 461,068 509,568 248,500
OJlzs(gee) 257,681 309,681 A52,000
oJlzs 233,859 285,859 A 52,000
-6= 70,436,000 70,436 90,436 A 20,000
-= 37,560,000 37,560 49,560 A 12,000
-8= 60,151,000 60, 151 80, 151 A 20,000
O=g 81,487 77,987 3,500
OFSEL R =) 40,682 37,182 3,500
SR 14,420 10,920 3,500
-WRMtA==E  550,000& * 1H » 53 2,750 0 2,750
- WEXIAH 150,000& * 1¥H = 53 750 0 750
fol & S (H3MESESE) 303,084 302,834 250
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2= 921,774 918,831 2,943
HY2AHH(SUH1S) 563,200 560,507 2,693
QI 2 492,061 489, 368 2,693
o1 21H| 459,411 458,128 1,283
101 Q1 Z4H| 459,411 458,128 1,283
01 = 459,411 458,128 1,283
CBIEE! 278,307 277,024 1,283
oJlzs 256,997 255,714 1,283
- BHA 256,997 255,714 1,283
- 92 32,241,000& 32,241 30,958 1,283
=gals] 32,650 31,240 1,410
204 XD A 21,270 19,860 1,410
02 A E2XH 19,470 18,060 1,410
08-9= 7,710,000& 7,710 6,300 1,410
=0 a0 & g (EU1S) 358,574 358,324 250
OtECI=2 OIE=Xx4d 358,574 358,324 250
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01 T =SS H SHI 250 0 250
OS+8X 22E 0IEHYY
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SA-E . S(E) - MEAY - BES 01l &4 24 pJE-T HIRE
}HE=s 916,504 984,609 268,105
HE2IHHI(IES) 567,875 633,680 N65,805
I8 24 499,706 565,511 A65,805
o1 21H| 466,411 531,411 A65,000
101 el 24l 466,411 531,411 A65,000
01 = 466,411 531,411 265,000
OJlzs(gee) 247,611 312,611 265,000
oJlzs 223,564 288,564 A 65,000
- BHA 223,564 288,564 A65,000
= 44,278,000 44,278 76,778 A 32,500
- 82 47,354,000 47,354 79,854 A 32,500
Sl 33,295 34,100 A 805
204 XA 22,835 23,640 A 805
02 A EXH| 21,035 21,840 A 805
OXNZIEXHI(ZEZ) 21,035 21,840 A 805
O8~9= 9,275,000 9,275 10,080 A 805
=0 4ol & sa(Itas) 348,629 350,929 A2,300
otttz o=x4d 348,629 350,929 A2,300
=olds X 312,789 315,089 A2,300
301 et as 239,950 242,750 A2,800
10 SAHAHIEA S 2,200 5,000 A2,800
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101 elAH] 383,048 378,048 5,000
01 2= 383,048 378,048 5,000
oJlz= 231,125 226,125 5,000
oJlzs 213,730 208,730 5,000
ey 213,730 208,730 5,000
6= 65,291,000& 65,291 60,291 5,000
2l 27,665 26,800 865
204 A3 18,205 17,340 865
02 2z 22 16,405 15,540 865
O6= 4,585,000& 4,585 3,720 865
ol 2 gd(s818) 240,331 240,473 A142
sl osx4 240,331 240,473 A142
a2 M2 29 78,138 78,280 A142
401 AlZHI LS00 11,358 11,500 A142
01 Al&H] 11,358 11,500 A142
OsSgASE M A2 B L =T AN
2d2A) 1,858,000& » 14 1,858 2,000 A142
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HY2IIH(SH2, 88 S) 474,150 482,029 ANT,879

QI 2 426,130 434,009 AT,879
QlAHI(SH2EEHE) 399,490 407,369 AT,879

101 Q1 Z4H| 399,490 407,369 AT,879

01 = 399,490 407,369 AT,879

OJlzs(gee) 230,907 238,786 ANT,879

oJlzs 212,538 220,417 AT,879

- BHA 212,538 220,417 AT,879

- 55 2,765,100& » 1€ » 128 33,182 34,754 A1,572

- 62 2,446,600& * 2% » 12& 58,719 60,291 N1,572

= 2,021,400& » 3% » 12& 72,771 74,340 A 1,569

- 82 1,197,900& + 1& « 128 14,375 15,971 A 1,596

- 95 930,300& * 3H » 12& 33,491 35,061 21,570

T4 & M (SH2EEE) 249,232 248,982 250

OtECtz Ot=x4d 249,232 248,982 250

Folde X2 177,199 176,949 250

405 AHoHESHI 250 0 250

01 HAUSEHSY 250 0 250
OS%8X PR OEHHIY

250,000& * 1K 250 0 250
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HH2YJH (FAIS)
olz eyl el dE
ST G(SH) - NREAY - BES Aoy ) Ees Hlms2
NI 690,072 727,762 A37,690
Y2 (FA1S) 432,285 470,225 A37,940
ol eyl 372,301 410,241 37,940
o1t 345,841 383,841 38,000
101 Q1A 345,841 383,841 38,000
01 B 345,841 383,841 38,000
oJll=s(e=) 190,670 228,670 38,000
o3 173,080 211,080 38,000
SOEIE 173,080 211,080 38,000
= 50,791,0008! 50,791 60,291 A9,500
72 40,060,0002! 40,060 49,560 £9,500
- 83 10,538,000 10,538 20,038 £9,500
- 93 36,937,0008! 36,937 46,437 29,500
2244 26,460 26,400 60
204 T4 A 16,980 16,920 60
02 =32 x| 15, 180 15,120 60
o073 3,420,00094 3,420 3,360 60
FOIGOl A BHA(ZMIS) 257,787 257,537 250
OtECt2 Ot=x4 257,787 257,537 250
FolMe 1 212,550 212,300 250
405 Xtatz S 250 0 250
01 T SEFSH 250 0 250
OS48X B2E 0IEHYY
250,0008 * 174 250 0 250
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SM: AM2S
M #HSARY (YMN2S)
cHol: ol Y| (B9 &2

SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
2 MN2E 481,489 526,233 N4 744
HEY2IHH (LAM2S) 320,919 365,473 A44 554
I8 24 288,720 333,274 AN44 554
eIAd| 265,550 310,104 AN44 554
101 el 24l 265,550 310, 104 A44 554
01 2= 265,550 310,104 AN44,554
ollzzs(ge2) 144,107 184,183 40,076
oJlEs 129,939 170,015 240,076
-2 gk 129,939 170,015 40,076
8= 0 0 40,076 A40,076
O=g(€8d) 49,843 53,731 /3,888
OFSE R, 26,040 29,928 /3,888
-NUSHIE R 0 3,888 A3,888
Sotd o 0 416 A416
nsstd 0 0 3,472 N3,472
OYESIH(L2) 16,412,000 16,412 17,002 A590
=2 4ol &2 ga (A M2s) 160,570 160,760 A190
otsti2 ot=x=d 160,570 160,760 A190
o MEX 2 105,600 105,790 A 190
401 AIEHIZ 208 29,810 30,000 A190
01 A&l 29,810 30,000 A 190
OAm2 FoU=JAAY(L2Z) 29,810,000 29,810 30,000 A 190
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